—WEHEME - HEACEO—EE
(1) BA (B T, %)
= TR BEE TR ORE
TEE | @Ak | B x| vEE | @k | B =
1 18,012, 868 44. 5 3. 1] 19, 340, 457 44. 9 1.4
(1) E&E®H 17,312,026 42.8 3.5] 18,634,271 43. 3 1.6
MR 6, 323, 132 15.6 12.8] 7,567,941 17.6 19.7
a) @A 4,404, 886 10.9 18.8] 5,587,837 13.0 26.9
b)iEA 1,918, 246 4.7 1.1 1,980, 104 4.6 3.2
&l E & 9,801, 782 24.2] A 2.4] 9,919,944 23.0 1.2
EEHEBER 184, 188 0.5 5.9 204, 280 0.5 10.9
=IECTH 1,002, 812 2.5 10.7 942, 106 2.2 A 6.1
Rl L RB R 112 0.0] A 83.4 0 0.0 B R
(2) BB 700, 842 1.7 A 5.2 706, 186 1.6 0.8
2 GG R 1, 340, 000 3.3 47.3 540, 000 1.3]| A 59.7
3 FFEIRATE 80, 000 0.2 105.1 30, 000 0.1 A 62.5
4 BEHEIRZ & 15, 000 0.0 50.0 40, 000 0.1 166. 7
b A FREMFIR SR 10, 000 0.0 b 40, 000 0.1 300.0
6 MAHEHRRAE 1, 200, 000 3.0 1.0] 1,200,000 2.8 0.0
7 JIL 2SR AR 60, 000 0.1l A 6.3 60, 000 0.1 0.0
8 BREREHRTE 305, 000 0.8 0.0 305, 000 0.7 0.0
9 #7534 & 310, 000 0.8/ A 21.9 120, 000 0.3] A 61.3
10 #5324 % 3, 700, 000 9.1 4.0 3,700,000 8.6 0.0
(1) ERRAH 3, 100, 000 1.6 3.7 3,100,000 1.2 0.0
(2) FRIR A 600, 000 1.5 5.6 600, 000 1.4 0.0
11 BBEREX KRR AT 21,000 0.1 0.0 21,000 0.0 0.0
NIEERVEIESE 431, 360 1.1 11.2 436, 368 1.0 1.2
13 FEAMRUOFHH 117, 496 1.8 8.1 143, 983 1.7 3.7
14 BEXHE 3,420, 089 8.4 15.2] 3,692,609 8.6 8.0
15 BXx & 1, 690, 830 4.2 A 26.2] 2,002,703 4.6 18. 4
16 BAEEURA 63, 663 0.2 6.2 68, 568 0.2 1.1
17 Bt 21, 660 0.1l A 4.8 18, 460 0.0] A 14.8
18 #& A& 1,248, 362 3.1 69.9] 1,066, 705 2.5 A 14.6
19 #RiiE 100, 000 0.2 0.0 500, 000 1.2 400.0
20 FEUXA 1,822,312 45 A 1.1 1,852,047 4.3 1.6
21 HiE 9, 930, 300 14.6 94.8] 7,292,100 16.9 23.0
a & 40, 500, 000 100. 0 9.9] 43,070,000 100. 0 6.3
gt | —HRELIR 26, 499, 049 65. 4 3.7 27,418,514 63. 7 3.5
iR |BEMIR 14, 000, 951 34. 6 23.9] 15, 651, 486 36. 3 11.8
Eq BHE IR 22,417,781 55. 4 5.4] 24,026, 588 55. 8 1.2
R [EEHR 18,082, 219 44. 6 16.0] 19,043,412 44.2 5.3
M— BB B~ I RBRMAR, 125948 - IS (REMEES) . 18EHSE,
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(2) mH

(B - FH., %)

= TR 8RR TR ORE

TEE | @Ak | B x| vEE | @B =
1 :BR 301, 696 0.7 A 8.5 306, 728 0.7 1.7
2 HHBE 4,893, 443 12. 1 0.3] 4,696,940 10.9] A 4.0
SREE 8,029,012 19.8 4.7 8,689, 585 20. 2 8.2
4 B4R 4,727,081 11.7 62.4] 6,016,877 14.0 21.3
bHBE 99, 531 0.1] A 3.2 99, 429 0.1 1.0
Bl 6 BMkEZE 1,381, 499 3.4 A 32.3] 1,572,604 3.7 13.8
%ﬁ TELE 2,057,887 5.1 A 5.9] 1,815,781 4.2 A 11.8
x| 8 TRE 1,088, 500 17.5 30.1] 8,354,003 19.4 17.9
wl 9EME 1, 726, 686 4.3 2.7 1,727,447 4.0 0.0
10 BB & 4,973,719 12.3 5.8] 4,281,505 9.9] A 13.9
11 KEEIBE 3 0.0 0.0 3 0.0 0.0
12 NMEE 9, 234, 880 12.9 6.3] 5,519,095 12.8 5.4
13 EXHEE - FlHEE 30, 003 0.1 0.0 30, 003 0.1 0.0
a &t 40, 500, 000 100. 0 9.9] 43,070,000 100. 0 6.3
= AHE 1,622,762 18.8] A 0.8] 7,521,864 17.5] A 1.3
z’g K& 3,852, 411 9.5 8.3] 4, 180,562 9.7 8.5
= NMEE 9,234,871 12.9 6.3] 5,519,092 12.8 5.4

& INE 16, 710, 050 41.2 3.4] 17,221,518 40. 0 3.1
ETREREXRE 6, 141, 824 15.2 11.3] 7,114,959 16.5 15.8
A HPEXE 3, 465, 811 8.6 32.2] 4,594,145 10. 7 32.6
& EMEXE 2,403, 458 5.9 A b 4 2 193, 396 51 A 8.7
i) EEEEXEEE 206, 842 0.5 0.0 206, 842 0.5 0.0
e g REFX8EE 65, 713 0.2] A 57.0 120, 576 0.3 83.5
=1 KEEREEER 3 0.0 0.0 3 0.0 0.0
pill IR 6, 141, 827 15.2 11.3] 7,114,962 16.5 15.8
X L=t 6, 087, 630 15.0 2.2 5,869,527 13.6] A 3.6
b HEHEE 520, 258 1.3 5.2 503, 887 1.2 A 3.1
T |[HBEE 9, 1217, 455 14.2 53.0] 6,946, 729 16. 1 21.3
D [Er & 39, 561 0.1 A 15.1 151, 275 0.3 282.4
?‘;’ BERVHER 1 0.0[A 100.0 1 0.0 0.0
= |EitE 1,145, 001 2.8/ A 0.7] 1,145,001 2.1 0.0
(BT 4,098, 217 10. 1 10.8] 4,087,100 9.5] A 0.3
FiRE 30, 000 0.1 0.0 30, 000 0.1 0.0
N E 17,648,123 43. 6 16. 3] 18,733,520 43.5 6.2
a8 F 40, 500, 000 100. 0 9.9] 43,070,000 100.0 6.3
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